Assignment 6 Date: 2/11/21 Subject: Mathematics

Class :2 Teacher: Kalpana Bawa

Lesson Multiplication

Q1 Word problems
1) There are 2 socks in a pair. How many such socks are in 5 pairs?
no. of socks in a pair = 2
noof pairs = 5
Total socks =2X5=10
Ans=10socks

2) Jia has 13 packets of pens. Each packet has 6 pens. How many total
pens does Jia have?

no. packets =13
no. of pens sin each packet= 6

Total pens 13
X6
78

Ans 78 pens

3) A dog has 4 legs. How many legs 9 dogs have?
no. of legs a dog has=4
no.ofdogs =9
Total legs = 4X9 = 36
Ans 36 legs



Q2 solve word problems:

1)
2)

3)
4)

There are 5 boys, each boy travels 43 miles. How many mile
they traveled altogether?
A kite costs rupees 9. How much money is needed to buy 15
kites?
Tom eats 4 eggs a day. How many eggs he eats in a week?
A carpenter makes 5 chairs in a day. How many chairs will he
make in 6
days?

Home work: Do pg no. 86,87,89 and 92 in the book.



